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Lesson 1

Making simple arrays

Discover |

We have
just planted
some seeds. 4

0 a) How many seeds are there in each row?
How many rows are there?

How many seeds are there in total?

b) Anya plants her seeds like this. QS5

QSa s
S
How many seeds are there QSSaz
in total? S22 5

84

| shore T

VAL S
Eslecsedgad)

There are |10 seeds in each row.

There are 2 rows.
eslcsedgad® D220 Sadgad

There are 20 4 ! .

seeds in total. 6 10 20

b) (Q)=®|Q|B]
Q|[==|™|#|  This arrangement

Q=[] | iscalledanarray. =
Q=&

There are 5 seeds in each column.
There are 4 columns.

asve s o9 e H pleHD

5+5+5+5=20

There are 20 FWY—\

seeds in total. 0 5 10 I5 20
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Lesson 1

Making simple arrays

0 a) m 0 m There are m
in each row.
m w 0) There are rows.
Pee |
R There are
oo o
) in each row.

Vi

000
4

There are \ rows.

e Match the array to the descriptions.

3 columns.

>BE> PRRD S PP
>bB BRRE S PP
>>> DDD> DD

>D> D

86

AN 4 columns.
- 2 A in each column.
4 columns.

3 A in each column.

4 A in each column.

e Complete the number line and the addition for
~ the array.

Ce 8 0.6 9

Gxxxx ° ° (][]
NG

There are [:] stars.

9 Tim and Kat are making arrays.

)

Who has made a mistake?

has made a mistake because
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Lesson 2

Making doubles

‘ Discover

If you roll 2 dice
with the same
number it is
called a double.

/23456780\\0|

@) o) Who rolled a double?
What is double 4?

b) What is double 6? m m

88

4

b) Double 6 is two groups of 6.

NOCO

+

00
Ol@

4

_[e[@le
0lojo

I drew a picture to
= find the double.
s

a) Tariq rolled a double.
~ Double 4 is two groups of 4.

I added to find

the double.

-\'g

L )@@
9000

Double 4 is 8.

00000
00000

Ol@

Double 6 is 12.
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Lesson 2

Making doubles

0 Circle the dominoes that show doubles.

q0

to complete the doubles.

@)

@) O

@) @) O

@) @) @) O

Q0O |1© @) O @)
Double | is :] Double[ is
Double 2 is [:] Double [ is

Double 3 is D

9‘ Match each card to its double.

- o (2
N ALY (a7 a VVAV
A J LVA v; . A v =y “ AVA
ATV [ v AV ]| [VAAY
@vAAA Avéﬁv VVA%VA y A
AYAY |A VA | AAYVA| | A AV

e Complete the sentences. @

a)

Double 4 is

b) d)

10 is double D



Lesson 3

Sharing equally

Discover

a) 8 Q are shared between 4 pizzas.

)

= There are 2 C}

on each pizza.

PR o Y red epee:

4

Now there are 4

groups of 2.
“‘::;; »
mozzarella | | pineapple = ::)Zenozepsgfzw;cll’tse.(:l
There are 3

on each pizza.

How many Q should be on each pizza?

|
0 a) Share 8 Q between 4 pizzas.

b) Share 12 on 4 pizzas.

Now there are
4 groups of 3.

b

How many should be on each pizza?

q2

XA OOOO

OO0
%%W x>

@/@/\gé
b
L R i
L) g
\_/ L N

.ﬁ/\
T S

@ W

=3

( Every pizza has the same amount of each topping.“"
. Share each topping out one at a time. ‘




Lesson 3

Sharing equally

o Share the toy cars equally between the children.

G % % % %G
a 2 e

L J T

There are ‘ cars.

They are shared between D children.

Each child gets \cars.

Q Share the dinosaurs equally between the children.

AAARAAADRA22222
poae

There are dinosaurs.

They are shared between [:] children.

Each child gets dinosaurs.

%

e a) Two children share 18 cards equally between @
them for a game.

How many cards will each child get?

I8 shared between 2 is [j

Each child gets cards.

b) One more child joins them and they have to
share again.

Which sentence is correct?

A B C

Each child
will get fewer
than before.

Each child
will get more
than before.

Each child will
get the same
as before.

Explain your answer.

Ithink___ is correct because

q5



Lesson 4

Making equal groups

Discover |

c a) 10 children stand in 3 groups.

Are the groups all equal?

b) The children now stand in groups of 2.

How many groups are there?

96

. Icanshow the groups
using counters.

a) | group of 2 ?‘: Q@) .S

I group of 3 i

4\

mugey.
*{.'K 00000

The groups have different numbers of children.

Igroupof5  ~
|

The children are not in equal groups.

b) There are 10 children altogether. I
CH @) @ ™M | Iwillcircle the children
i" a. S " .| in groups of 2.

J:‘L : l #18 - . Ee

DOODD .
There are 2 children in each group. y
There are 5 groups.

There are 5 groups of 2 children.

q7



Lesson 4

Making equal groups (3]

‘9’ a) The farmer puts 2 horses in each horsebox.

There are 8 horses in total.

B P S Y

How many horseboxes does the farmer need?

b) The farmer puts 3 sheep in each pen.

The farmer needs horseboxes with 2

horses each.

There are I5 sheep altogether.

&P Je n Jh e Be Ja da Je e fu fe JE Se )

How many pens does the farmer need?

The farmer needs

@ There are I8 bees altogether.
- How many groups of 3 bees

o

pens of 3 sheep.

&%

are there? & &
There are groups of % &‘ & &é?
3 bees. &% @ e\ &

a8

Join each set of counters to the correct description.

00000 10 has been put into
00000 groups of 5.
00000

Q00000 There are |5 counters
00000 in groups of 3.

o0 00 00 This is I5 sorted into
OO0 00O groups of 5.

g g g g g 10 is sorted into
00000 groups of 2.

These children have 20 cubes each.
Which children made equal groups?

Tick the cubes in equal groups.

qq



